XI STANDARD
COMMERCE (Model)
Time allowed: 2.30 hours Maximum marks: 90

L11fl6y - 1/SECTION -1 [20 X 1 =20]

GmiLyY: i)  masHg alamssErsHGWw allmweaflsseawn
i) Qam@ssUUL(BeTen BTG allemLgeflsy LS e LD
gy ellnLuilemer CaHIHASHHSHH &MUL (L 6or
allemLuillemerud CFISHF 6T(LpSHa LD
Note: @) Answer all the questions.

(ii) Choose the most suitable answer from the given four alternatives and write
the option code and the corresponding answer.

1. Fal_(PL UR@G BMIGHEHET LITILISeTe6u
M  Seoflwmenr FLL BUIJ &6T6MLOU|6DIL ULIG606V
1) euemyim| CUITMILIL
1  FlesHs eumpe| Gevemev
1v) Qurg (WHHemy

(S)) (1) LoMMILD (11)
() () LDHMILD (IV)
(@) (1) LLHMILD (1V)
(FF) (II) LDOMILD (111)

The features of Joint Stock Company are

(I) No separate legal entity
(ID) Limited liability

(IIT) No perpetual succession
(IV)Common seal

(a) (I) and (II)
(b) (II) and (IV)
(c) (D) and (IV)
(d) (IT) and (III)

2. et eusstelmmIen 61& eMmuny bl ellqdHemsullest  HoLUNuleoLgern
@6Lem6V?



(&) QUTIBL&6 LMHMID CFemeUmMI 2 (h6UTEE G 6V

() QLT gmmed

@) Qum@per MHMID CFemeu LFILOTHOLD (1) eNMLIEHETT
(FF) FLOU6MD / 60l

The following does not characterise business activity?

(a) Production of goods and services

(b) Presence of Risk

(c) Sale or exchange of goods and services
(d) Salary or Wage

QuTGIeUTS SH& QL JUTL L& Q&ML &)
() 2DUSHS CHMHeD

(&) 6U6TUNSHLD

(@) ewmumyL

(IF) Qemeu MM HHILD

Normally high level risk involved in

(a) Industry

(b) Commerce

(c) Trade

(d) All of the above

L& UDMIET 618 Fal (h(H-FMIT HMIEUTLONGLD?
(&) FaHGIll URIE BDILDLD
(o) SesTlimen eu6wN&LD

(@) Sir& Hmiotd
(FF) Sal_(hM6EY FRISLD

From the following which one is non-corporate enterprise?

(a) Joint Stock Company
(b) Sole Trading Business
(c) Government Company
(d) Cooperatives

FoL_L_M6TuI6nLD 6RLILITEUGTHMG @eeUTm)| SI6MLNSHSHE0ILD?

2



() §MI& HEOL (LPEOM N6

(9)) FaL_LT6UI60LD &Fhis HEDL (LPemM &Gl

(@) Fal L mesoienid FLL LD
(FF) SaL_L_[T600T60ILD
The partnership deed is also called as

(a) Articles of Association
(b) Articles of Partnership
(c) Partnership Act

(d) Partnership

U Hming e QUISG DD
CHbHSCHEHADIIEET?

(o)) SL6HCHIT]

(o) SLevmer&ern

@) sLBLGUUSETSSTT]

(FF) LIRIGSTITTS6IT

The Board of Directors of a company is elected by
(a) Creditors

(b) Debtors

(c) Debenture holders

(d) Shareholders

SLP&6UTL 1M M) 61T Wiy

UL Iquied 1 -60 2 eTeneumenm L iquled 11 2 L6 QuTBSHLL UmjsHsl,

&G QamhsHsUIUL(ReTer QHTGLNO(BHS 2 Mmi&GeT aleLenul Qgifley

Q&S
LILlgulev I LILlqulev II
(i) QUTBeMTHTY CHIEHSMIGT 1. GCeuemeveumLIL] o6TlgH5He0
(i) FeS CHTEHSMIGEN 2. mISIGeuremy Sl(pUSH UH &GS
(i) Himieuest CHT&H&MmIG6r 3. @Qumg mevedt
(iv) CHHAW CHTESHMIGET 4. @eomuid L (Heug)
Q& ME&LIL|

(1) (i) @) (1)
o) 1 2 3 4



(o) 4 3 2 1
@ 2 3

(F) 3 4 1 2

._.
N

Match List I with List II and select the correct answer using the codes given below:

ListI ListII
(1) Economic objectives 1. Employment opportunity
(i1) Social objectives 2. Customer satisfaction
(iii) Organisational objectives 3. Welfare of the people
(iv) National objectives 4. Earning profit
Codes:

(1) i) () (@v)
(a) 1 2 3 4
(b) 4 3 2 1
(c) 2 3 1 4
(d) 3 4 1 2

SHOMEVMID VIV GHGH60T Henenger 2 MILIL HMICUTRIGET  &l606uol
PDIUETRSERSS (PiRAEEHGL JHUTTHMS GSHLILG

() OLWILGSSHISHED

(&) UTeUeOTSHSLD

Q) HHSMILD
(FF) €2(IHMI&60600TLIL]

Dispersal of decision making power to branches/affiliates/subsidiaries by head office represents

(a) Centralisation
(b) Decentralisation
(c) Power

(d) Integration

@@ SIJ& HMIOW wWr@Gsnlwl QUWIfeL LIRIGSmeT eUMhiGSHMmSI?

(&) Nygw WwHSIH
() GWr&ESH HEOELU]
@) @I gemevenn HELG

(FF) LOMHEL (P&HELEMLDEFFI]
A Government company purchases shares in the name of
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10.

11.

(a) Prime Minister

(b) President

(c) Chief Justice of India

(d) State Chief Minister

SLP&EIL. FaHMIS6MNED 615 HEUMTEN FaMHMIMELD?

(&) Ulufled Qb Cmelg qREGSL  QWDEME  CU6TRIGENT

NN$QsE&GWD 2 MHUsHE QSTLHeLTGLD

(&) STUTRISGEHD, WOGHSRSEHD HSTCouT e 2 LCWTSESHNETS

QIaMISSLILG6US LILET] QSTLHOMEFTENEVSHET @& LD

@) s&&emu  QumGLsemer ULGaIm Ughlenevsailed  LwsTLGSS

(FF)

QUTBLSemeT 2 MUSS QFleug WML QHTHMETHED Y GLD
&FeMl QUITIBL &6 UeLGoum Ul Heneusenend &L hG ST el
LOMHMID FF&&HmT Gumemm QUIT@BL&smeT SWIMFLILG &L (HLOM6S
QBTLHMEFTMEL Y GLD

Point out the wrong statement in the following.

(a)
(b)

(©
(d)

Extractive industries extract products from natural resources

Genetic industries engaged in breeding plants and animals for their use in further
reproduction

Manufacturing industries are engaged in producing goods through processing of raw
material

Construction industries are involved in the successive stages for manufacturing sugar and
paper, etc.

L& UDMIET 618 CSTHMHSIHD URIS 606V?
(&) @BHL QBTN HHEHPSHLD

(of) CoHAW afl_@ susd eumis

@ QnHw Hm QAHMHELSET eUaMTEFS cUMIS

(F) @BH QASTHM eleMTFH eUmIS

Which bank is not an Industrial Bank?

(a) IFCI
(b) NHB
(c) SIDBI
(d) IDBI



12.

13.

@@ Qurg HminsSer siemwliy (WmDCUWLIged GMHS 2 L Liflaled
SLp&6IL eumMied @L LDQUMIEUS WITGI?

() Curg CHI&ESMmIS6N

() (PSS CHTESMIGEN

(i)  Gl6m6wT GHT&HSMIGE

(iv)  SMA&FWIEL CHITEHSMIGE

v) @57 ChHI&sMmGen

&GL QeETESsUUL(Beten GMOuILemL LwledTL(h & &) gijlwimest
alenLenwlsd CoHIHOS(H &S

(S)) (), (i) LLOMILD (iv)

(W) (i), (iv) LDOMILD (v)

@) (), (i) LDOMILD (i)

(FF) (ii), (i) LDMMILD (v)

Which of the following are stated in the object clause of the Memorandum of Association of a
public limited company?

(1) General objectives (i1) Main objectives (ii1) Ancillary objectives
(iv) Incidental objectives (v) Other objectives

Select the correct answer using the codes given below:

(a) (i), (ii) and (iv)

(b) (ii), (iv) and (v)

(¢) (i), (ii) and (iii)

(d) (ii), (iii) and (v)

et eausTalmmIeL 618 alhiGuiled HEH 2 sall QUMIISHHETS &o(h&ev
MNemeoriinssl LiwesTU(h $SUILGHMGI?

(9)) GIEOD(P&HE FITEOTMITED)60T

(&) LG &G SMTLILITENT Q&)

@ DS Qe
(FF) LI6OIL_S& & T60TMT66T

Which can be given as a collateral security for getting financial assistance from bank?
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14.

15.

16.

(a) Dock Warrant
(b) Warehouse Receipt
(c) Dock Receipt
(d) Warehouse Warrant

SLP&SEILQUDMIET 618 FFluITe CQUIT(HHSONELEmE?

() QamLhlev - @eomuLb

(&)  HoUysHmLHeL - QBMLHIL (LPeHME SL_L6W0ILD
@) Geuemeveumuiiy - FLOLIOMD 9606V G| Fa60l

()  2.Muss CHmplev - QMRAIGHEL L6V aMMEL

Which one of the following is not correctly matched?

(a) Business - Profit

(b) Profession - Professional fee
(c) Employment - Salary or wages
(d) Industry - purchase or sale

SLp&6IL eumMIeL 618 SMLEL 19681 CHMLUT(H 31606072
(9)) SL6TT Sl6rM5&H60

(o)) D& HLOLNGEMS

@) smilb@k Qummbevss

() FLGms

Which of the following is not a principle of Insurance?

(a) Lending funds

(b) Utmost good faith
(c) Insurable interest
(d) Indemnity

@b MEgey eumKuest umFLURWL usN&elled @D QUDTHS)

61812
(@) Sieus Ml Coemals6
(@) A6 RIS

(@) URIS&ET6T 6URIS

(i) Sal_(Bmey Slomuilene 9485158 e0



17.

18.

19.

The traditional function of Reserve Bank of India does not include

(a) Clearing house services
(b) Government Banker

(c) Bankers bank
(d) Supports of co-operative sector

“@mISHenevs &L 61 FGeumy” 6161) CQEFMMHCRMTL GMILILIGI?
(Sl) 2.608 UMIG
Q) W aumIS

@) @bHw Nede aumd
(FF) UMJE eVGLL eUmI&

The phrase “Lender of the last resort” refers to

(a) World Bank
(b) Asian Bank
(c) Reserve Bank
(d) State Bank

SLp&6IIL euMMNIEL 618 QFHML[Joueulg CUTSHEG6UTSHEH6T HeITEnLD 6LEV?
) B8 @M QNSGEHLOMET STV S L eUmeutenll Cl&TEu(heTens)

(&) Bl HISHNHG &6ugs WMMID  LIHLO6TE  QUITHL &emern
&HG CFeLeUFMEG LDGAID CILM(HSHFHLOMEIIS)]

@) Bl U LWeisHemng LseL-Qre (L(eUGID SeNs&SHms
™ Q& m CuUTEHGTHMSHS STLIqeD GausLD &emnMmeUTe )

Which is not an advantage of rail transport?

(a) it is regular schedule of timing

(b) it is suitable for carrying heavy goods in large quantities over long distance
(c) it can provide long distance travel throughout the day and night

(d) it is slowest means of transport

ol L mef&efNett SLN&HL 2 flemLnsenen &ev6i:
(1) NWIMUMTSH&H6L UMRIEG QU@L 2 [flenin

2) @eomuggled LRICHHEGLD 2 [flémLo

(3) HLMIGG 6ULlg GU(BLD 2 [flémLd



20.

4) &L6dT QU(HLD 2 flemLd

Fal L mergeMest &L L LilqUImest 2 [flenLOUIT6g)?
(9) (1) LOHMILD (4)

(Sb) (2) LOOMILD (4)

(@) (1), (2) LoOMILD (3)

(FF) (1), (3) LDMMILD (4)

Consider the following rights of the partners

(1) Right to take part in the business (2) Right to share profits
(3) Right to receive interest on loan (4) Right to receive loans

The legal rights of partner would include

(a) (1) and (4)
(b) (2) and (4)

(©) (1), (2) and (3)
(d) (1), (3) and (4)

SLPSEIL. QUTHSKILIMIGHEET &(HSHHEL C&HTeS:

oMMl (A): NMASHFH Fal LMaNGEHLD 6UUES  CEBTEILTLD (b
Fa(hUUMEGITEnLD HIMI6UEITLD &6V &HSBLILIL 6VTLD.

SMJEUILD (R): Q@M FalLmguemn  Himelad  Fal L mealseafler

2 L 60TLIML_L_IT6L 2 (HeUTSSLLL UG GumeuGe
9 L 60TLUML_LIT6L H6M6VSHSHLILIL 6VITLD.
&GLp QeETESsUUL(Beten GMOuILemL LwledTL(h & &) gijlwimest
alenLenwlsd CoHIHOS(H &S
(8l) (A LOMID R) QoG &, CLED ([R) 6L (A) NDHG
gilwmest elen& &L
(&) (A) LOMID R) QoG &, CLEd [R) 6L (A) NDHG
gilwmest elen&&HLo606V
@) (A &, pemed (R) Heum)
(F) (A UMl E0TM6L (R) &Ifl

Consider the following statement
Assertion (A): A firm may be dissolved when all the partners agree to close the affairs of firm.

9



Reason (R): Just as a partnership is created by contract, it can also be terminated by contract.

Select the correct answer:

(a) Both (A) and (R) are true and (R) is the correct explanation of (A)

(b) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(c) (A) is true, but (R) is false

(d) (A) is false, but (R) is true

LNifley - 11/ SECTION —II [7 X 2=14]

GmiLyY: TmeUGIMIL 7 alaT&&EsHE allmLweaflssalb. 1eummleL

Note:

21.

22.

23.

24.

elleurm 6T6vr 30-M( SLLMWLOTS ellenL weflsseayLb.

Answer any 7 questions in which question No. 30 is compulsory.

6hG eNMWMUTy Sienlenl FLL  FLMRIG (DM gD et
SIOUSHHELMD? SIGH60T CLMT(HENET FoM)S.

Name the type of organisation in which there are no legal formalities required to start? State its
meaning.

SwUUS eTeiiLe] @@k Bbardded HpUUNES Qs By Syef.
@&lev samULL(BeTen Lig Sel] 6hg QUITIHeMTHT] GQ&FWweoUmlqed F(E
UL BerTenm? SiGHes QUMTHenean 61(LDSIS.

Thirupathi is the famous cardiologist of his town. Identify the type of economic activity
highlighted in the given case. Write the meaning of it.

feur  eteotueuy  QUICLEVAITHEHD, HeHEG ~ FTHHLIE  BhHSGI
UL GSenen sneusgl e Ligs&Gd QsMbeney Q&S5 eUBAMT]. 6wl
QEwd 2 MUSGSHSE QS TLHOI6T QUL 6T6oT6ar? QUITIHET FaM) 5.

Siva is a fisherman in Rameshwaram and owns five fishing vessels. Identify the form of industry
in which he operates. Give the meaning of it.

@B oamNs BHnesrsdHer  QFTHHISET  H.  1,00,000.  I6VTTEL
Sibhimieuerd CleuaMUT _&En&E& ST Geueutnigll SL 65T ¢h. 1,40,000. Q6L
gagULl(Bemerily  Sihg  QUTMILNeT QU eTetTesr?  SL6IHCHM
MNeirex(bd HmIeuesThiGaiest L& 6T65T60T BHL6UIGEHME 6T(H&HS (LPIgULD?

1) @& sesTlwme eUeN&HLONG @\(HHSHTEL

10



25.

26.

27.

28.

29.

1 o8l () LOMMILD (o) 6T60TLIEIT (G 61T FLDOLDIT60T
ol L mefl&enms @) (hhSHmeL

The business assets of an organisation amounts to Rs. 1,00,000 but the debts that remain unpaid
Rs. 1,40,000. Name the liability and what course of action can be taken by the creditor if:

(I) The organisation is a sole proprietorship business.
(II) The organisation is a partnership firm with A and B as partners with equal shares.

Qurgl BmigHer gCHMILD Qretni(R HMULS FamiSHemen 61(LHSIS.
Write any two salient features of Public Limited Company.

Fal_ (K6 FRISRIGETI6T JCHMID BHT6HE UMBHEMET 6T(LDSIS.

List out any four types of co-operative societies.

UmSSHmeilLed OHmIDd SMeEFT) Q&L (WD LUmE SHmesilLev,
Qemas@s® Qe Guwmen GCeumun(h&er gCHMID  @6eutilq 6016
o.M\ 5.

What is the difference between Business Process Outsourcing and Knowledge Process
Outsourcing?

@albeur@m QM & SHoLB WwOHmIb elusg Gumsim LLGeum)
AQLismens Qamanhereaigl. Seummded Heo QL FeEemenr ST (H
Hmimger Gumerm HLUL eumlhd BMIUTRISEHHE WIOMLD CFUIL
QuigId. SMUL( 6TETMIT6L 6T60T60T?

Every business is exposed to different types of risks such as fire, theft, accident, etc. some of the
risk can be transferred to a specialised institution known as Insurance Companies. What do you
mean by Insurance?

G LOMI] 6T6OTLIEU [HTLOSHSH6D 6T60TM 2aMfleL €(Ih, HTELIHEIL_LI LIGTOT60I6T0T60IL
QEFMHSHLOMS 60I6USGI6ITENITI].

(i) Qg Nf50EHGGWL 2 MLUSEH QSTHNISHE 2 STJ6UTLOMELDT?

(i)  SIHET QUITHET &(H&

Kumar owns a cattle breeding farm in Namakkal.

(1) Is this an example of extractive industry?

(i1) Give the meaning of such industry.

11



30.

R UENS] Heralenl Wl QS THMHEFTMeLEMUI €. 10 WL FHHDGS
flwenLed  STUSLE HneuasHL (AL  WOMID €. 5 6UL&LD
LHINHG B, @bHwr STUSILE HmeuasHL (wb, & &Mk
QEWGleTeT]. 2§ QFMPDMETMEL UP(PeUGID Sullemed SibeMHMSI
SUBSG Qrueni(h HheuaTmGLOI(BHGHID, CEIHEH €H. 9 6VLFLD
BLL (R SUUULL G eedbleum@® HheusarHL O(BHSID feuj GL(HLD
Q&M 6T6M6UETEY?

A businessman insured his factory against fire for Rs. 10 lakhs with the Oriental insurance

company, and Rs. 5 lakhs with New India insurance company. The factory is destroyed by fire
and the actual loss is Rs. 9 lakhs. What is the amount of contribution made by each company?

LNifley - 111/ SECTION — III [7 X 3=21]

GmiLyY: TmeUGIMIL 7 alaT&aEsHE allmLweaflssalb. 1aummleL

Note:

31.

32.

leuTIT 6T6v0T 40-M( SLLMWLOTS elenL weflsseayL.

Answer any 7 questions in which question No. 40 is compulsory.

QupemsCWn@ Qs MLy Q&mEu(h, HHET 2 .HINUImeL CLIM(IHL &emern
2 pUGEH QFLWD 2 muUsSH Qampedesr QuWers  GSOILNGS.
SleummMlest eUen&EHaflert @Qetrigemesll LMM 6T(LGIS.

Name the industry which is concerned with the production of goods with the help of the nature.
Explain any two types of such industries.

UmLLT  HMIOWn  SH6TElenL Wl 6U6wNs  BL6GSOEHmeT  6T(LHLS

BIG&Er&S CeL BLEF aUBEADE.
() @b euflgsefled GMIUILLUULIq(h&S60TM HMILLD 6THG EUEMSIITETTHI?
(i) SSHEWIOLUI HetTemLD&HaTeL JCHMID @6turig.ement 6@ .

Bata Corporation carries out its business activities in around seventy countries.

(1) Which form of corporation is identified in the given instance?
(i1) Explain any two advantages

12



33.

34.

35.

36.

SemeveUmeutTl  6T6oTLIGUFl60T  HTHHT 6(h  HIWNESHML M  BHL G
QUBEDT]. SHOL SQUBOLW  HHeMGUI(HLD (H 2 (HLILIN6TITTEUI].
SLQUDHCOHTIHEFHG S]] ¢CH LO&6T Sy 6.

() SUMHES HASHTLHL FHUBL SSGSH 2 6T m?

(i) SIHCSMPEO6HT CLwenTsd GSOILNEGS.

(i) SIH6TT FMLILSG FamIGHeT JCHEMID QT6TuTg 068165 FoM) .

Kalaivani’s grandfather deals in the business of garments and her father is the member of the
same. She is the only daughter for her parents.

(1) Is she eligible to enter into the family business?
(i1) Identify the type of business
(iii) Explain any two of its characteristics

IS i) @@ bHSS) aujss GELUSMSE GCaihseu]. Sial]
SeoTemiemL Ul GGU aUBLTaEIGmSL CUHEGUSDSHNSE (I aflends
SenLenll QHTLMS N@GLUADM. 2 hSEHLU S(HSHSHILILG Sl
61h  eumSWTenT  QIMUTIHMG  CISTLRIGEOMD?  SISHEWIEOL_ILI
hetTenLn&efled gCHID Q6T enes 61(LG)IS?

Sudhakar belongs to a middle class family. In order to increase his family income, he wants to
start a provisional store. As per your judgement, which form of organisation would be best suited
for him? Explain any two advantages of it.

‘UL && SMLILISRIGATEL LD QUmSHEH6T 2 aTarer Sleummlied 6CHmILD
eLp6aTM6n6T NS G S.

“Warehouses are many types”. Explain any three.

Uty Fepsmy  Hsd  OWNCLL, QFetement  Nfley  SiEVIEULSLD
SeoremlemL il  2arplifseaflest LM FloUemsemg GCHHAW et H
LUflLTOMLD epevd QFNIHS (LPlg6 QFUIGIETENG).

@) GCa&flw Lhletmeoreom) H& LFDMMOLD 6T60TMTEDL 6T60T601?

(i) @&OHGW, o euend Chy QLIEEH Fious WOMSGWD 2 66
CoumIUT(B &6 WITem6?

Bharath Sanchar Nigam Limited, Chennai division has decided to transfer the salary of their
employees through NEFT.
(1) What do you understand by NEFT?

13



37.

38.

39.

(i1) Differentiate with RTGS.

QS  &HHSHT HeisHerm SHLOIPS s  FTIHL  HeoL QUDM
&Geomald Q&ML GUTLIquTeL HIFOeON LRIGQOUOMITT. S0 Sl
QeumM QUHMMTY. SUBES €h. 50,000 QUTSHSL Ufl&E SHenL &GleTens.
GO Sl HemlenL W WEaflett 2 wfsLell  CFalmHsNs
QRIS BHH UBLRSEHHSG neulll| CIFWIST.

(i) Sieu] emeulil QFUIG SHeuuTsHSH 6o GILILIT 6T60T6012
(i) AGH6HT @evriR QAFHWMUILSFMISED6T 6T(LDSIS.

Nirmala participated in a slogan competition organised by the Government of Tamilnadu on
Independence Day. She won the competition and was awarded a cash price of Rs. 50,000. She
deposited that amount in a bank account for a period of five years, so as to be able to provide for
higher education of her daughter.

(1) Identify the bank account in which she has deposited that amount.
(i1) State any two features of such an account

MNesteu@Bd QU Himiederhisaile CUWITSET 61hS UM FTIHSHSI
616018 (GMOILNGS.

() @HSHW FEfel aumis

(i) @bHuwiest @ruilevGeu

(i) SODBTH & CUTHGUTHHIS HLHSHLD
Identify the form of public sector enterprise in the following cases:

(1) Reserve Bank of India

(i1) Indian Railways

(iii)) Tamilnadu State Transport Corporation Ltd
@O BHneuaid CQUIGLSmaS &SLIGG eeNpusmer CFUSHMS).
guumm QUTBLSmET SLMIGEG eNHGWL Curg eumm&lwieu) L5g)
CQuOOEUTTL LIMMIEFFL(H TWPBSULGEDS. G @@k SO WHMILD
BB esywmer ewmury HmieusTons @@bHSTeL, HeOL (MM (L &6Ol6d
SUNELOMeT LUGH wrmmEL g (WLRE aGHng. Qns QL

14



40.

41.

CUTEGUSMS, 6TL(h& HL 6T (LPSH6MLD 6T601N CFemeU 2 (HeUSHSLILILL G).
S1H60T QuieLL&6T JCHEMID cLeaTMIEnssT 6@ .

Firms sell goods on credit basis. When goods are sold on credit basis, bills are drawn on the buyer
by the seller. In case of small and medium sized business, a considerable part of working capital

is tied down in bills receivable. In order to overcome this hurdle, factoring services are emerged.
Explain any three features of factoring?

SLPSEWIL. QUTHSKILIMIGET 6THG 6UNS SMOLINMEG CILIT(HSSLOT6uS]?

()  Hemveowmssr WWOMID QSTLIFH SHeolend  QBMETIIL.  6)6TINS
Sl6OLDLILY

() umgbuilw  QEFTHSHISHSMETL  LILETLEGSS QML  QEFuwiujd
Sl6OLDLILY

(i)  GEOOEUTET CFEV6BHEDHL 6T CFHMLHMETSH CHTLRIGLD SeMLOLIL|

Which form of business organisation is suitable in the following cases?

(1) The business organisation should have stability and continuity.
(i1) The ancestral property is to be used for doing the business.
(ii1) There should be minimum expenses in starting the business.

LNfl6y - IV/SECTION - IV [7 X 5=35]

GmiLyY: AmHG aNO&HsEL&HGWL allemLweflsseawn

Note: Answer all the question
LewIL_MiGeflest 2 MUSH wOMID NHCWTSD  CQFWIWD  GUTSILD
QUEINEHSHL LIeL SHOLSE@HD QL ULMISEHLD JMHLILIEGETmeT.
()  SIHFHOL&ET §CHMID WHEH 6w LI Lgu1edl(hs
(i)  Sleummiev gCHMID cLpeamdlement aeN& G s
(i) UMMM BHGLD CULHIGET WITemew?
(SI6L6VG))
QaMpled  QEwe(WemMm  UDSHMEILL D" 660D  HEMELLILTeL
SLp&EIIL eUMenm N6l 5.

15



42.

(i) SIHEST QUIT(B6IT
(i)  (LPSHETIENLD [HL6UIG5H6ME
(i) JCHEMID CLPEITM)| [HEOTEMLOGEIT

Business consists of many hindrances, while facilitating the production and distribution of goods.

L. List any five such hindrances.
II. Explain any three.
III. How are they overcome?
(OR)

Explain briefly about Business Process Outsourcing under the following headings:

(1) Meaning
(i1) Core Activities
(iii) Any three benefits

QUEIN&LD 61601 CIFTEL CUTIHL&6T OMID CHFMEUSHET QULPHIGHMEVE
GGG  gyeurmed  eNWmUTID  6T60Im  CFTL  QUITEHL &6  LOMHMILD
GCaemeausemear aMhiGHsL MM alPuUmss GMEGWL. QendsHsHailly
Qemer  @QrenigHGSD 2 6Ten MM  CoumUTH&HEMeT L L UT6TIILI
LUBSEIS.

(916L6V &)

ABSHIW  SIPEMRISD, BILIgeL HUHSHHHIQUMBD eroTIL  CLTEITS6N
W&AHLSGH S 2 mIHHFH.  Cogyd,  Qeremmul  SleTebd
Qupeumflwlmest LD &G 61T LSl (Wpemm QBMTLHILHIL LSS MG
@emisailevemen, ghlameeiley SibhG CUMsTHeileL ellemey &FhHenuilev
D& SIHHOTE 2 66N 6TOIMID 2 IS (BHSH. QHIHW YITIES
Hmieuetd edleumenm e(h CSMHNOBIL LSS 2 (HUTEHS, IG6n6u
ABIHI THESG SMILULT USHF. SG6euiqLiLienl_ulled SIFFTHRISGLD
oML CUTeTSHemeT Genmhg ellemeouiled 2 MUGH CFUILl (LPIgULD
601D @B UGS SBIHMS (P61 MeudHH. ABDETEC @@ SiT&
HmIbD QSTL_RISLULL ).

() oIf& HMIDLD euemFUIm).
(i) SIGH60T TCHEMID BHT6OIS HETTeMLDSHEMET QN6TSH G .

16



43.

Activities involving distribution of goods and services is called commerce whereas purchase and
sale of goods and services is called trade. Tabulate the other differences between the two?

(OR)

The Government of India is aware of the increasing importance of smart phones in the country. It
is also aware that even today a number of people do not have access to this technology, because
the smart phones available in the market are expensive. The Indian Research Organisation has
developed a cheap technology for Smartphone and has forwarded it to the government, with the
proposal that the government should venture in the business of manufacturing smart phones, and
has decided to open a government company to execute the proposal

(1) Define Government company.
(i1) Explain any four advantages of government company.

umeyl  eteotle]  oip&  GeuemeouNed(BhG pule] QUOMEN]. Sl
SOCUNG epllie)] 2a1fliid QUMILIO]. el HeTmIenL L &WISS 6THS
@@ Filwmer GeusmeLld &L &&6TN606mEVGII 6T60TM UBSHSHLILL (Hd
Q&M (HSHADM]. SUBSG 61HMTUGH @@ Couamevenll LTSS
QaThHSHHMVID Sleu] USHL Heo BHrem @QBLILS6V6m6L.  Limey|eleot
besoiugmesr  FUTUS  QeumMSILOMET @ CHTLHL BLGSH 6uGHEMIMT].
Sl6U] SHEUTEMIENL LI HEUUILIFI6N LDSHEMISHG SHENLITET 6UNHLD  €R63T6MM
QMGG SBLMM ADDISSHIEDT].

(i) SHETILITET QUMNSLD QUMTUIMIHS

(i) evnwimen eueN&HGHlenT JCHMID BHMes@G FMULNLILGEmET N6TSHE .

(SI6L6VG))

@nHuwer  @QruievCGeu 2 60HCLCW @ WSLGAUIlW  @ruievCeu
SAGWL. Q6T 2 FflenOw|d WOMID QUSHUPLD TEFTRISSSILGLD
2 aTengl. @& epeuCleum(p BTEHLD LD&ESHATET SHTMITL  EUTLNSHMSHUI6L
QL QuOABGEADG. Q&1 QUWISSILTE®S 65000 &H.15-6@ GCLO6L
peromensn@. Qnhs  QHMLjeueoig  &WMJ 6L LN6LEOI6D
Lwlewn&enen gmmMIE CFeLHMGI.

(i) Q&MLJeueuvigll CUTSHEG6UTSHS60T HEOTEOLDSH6NT UIT6mI6U?

(i) HGH60T GEMMLUILT(HS6IT WIT6m6U?
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44,

Mr. Balu has retired from a government job and now he is a pensioner. He is quite worried about
his son Kamesh, who is not able to find a suitable job. Even if he finds a job he is not able to
hold on to it. Mr. Balu’s nephew Sabapathi runs a successful business. He advices his friend to
open a sole-proprietorship business to his son.

(1) Define sole-proprietorship.
(i1) Explain any four features of sole proprietorship?

(OR)

Indian Railway is the largest Railway organisation in the world. It is owned and operated by the
Government. It touches the life of the people every day. The length of railway route is more than
65,000kms. The network carried about 8 billion passengers.

(1) What are the advantages of Railway transport?
(i) What are its disadvantages?

(P SH6oTemLOLILITNG6T, @6l MD  [HlemeuLiLieol&em  LOMMID  (LPSHEMLDGF
QeweoUT(H&HeT SNl 6UWNS QURISSET 6UMHMSILITOTT&HaN6T CILITS)
heLWIHHTEH Hlev CFemeu e 6ULPMMIE ST 60T,

(i) HFCFeMeUGaTeT CUWIEMTS GMUN(HS.
(i) SeuMMIEL JCHEMID HTeTTHeM6sT QN6 5.

(S16DLEVS))
LEIL&&  SMUUSLD  6THISHMeLL  LIW6TUMLIgM&STSL  CUm(HL &emern
Celhsg mausGL QLWLISAID WWOMID QIPKRIGED EMLDWIDTHELD
QFweouB M. UWMILSS  SMULUSHGaNL  CFOIHH  meUsHGLD
QuUIT(HL_s6rfl6ot &60T6MLOEMLLILI QUTMIS S Sl6me
Qg QIMSSLILGHGIDET.  LGIIL &S SMUUSHHET  gCHMID  BhHS
HEOTEMLOG6D 6T Y1615 (G .

In addition to primary, secondary and agency function, commercial banks offer many services for
general welfare of the customers.

(1) Identify the name of the service rendered
(i1) Explain any four functions.

(OR)
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45.

Warehouse is a place where the goods are stored for future use and act as a distribution centre.

Warehouses are designed depending upon the nature of product to be stored. Explain any five
advantages of warehouses?

MNereu(pd  euTHHWMISeMNeT QsTEHEHSUUL (Hemem STUSL (G SHILLmeuesor

almasmeT GMIUILE sieumemml UMM allenss e1(p&GHeyLb.

(1)

(ii)

(iii)

(iv)

V)

Qeuausms S LmausmisHed (WPpHTeSQsTems sTUSE  CUmIb]T
LOJ6wID 6wl bhd LNMEG euUPRISLILIHLD.

Q&S LeucmngHev  SMUIEH SHBBITEL (PHTeUS CFHTensHemnil
sSMISE QUMIBGBSG @G GOUNLL SeTbd (PQU|D  6lem)
SlLEL G| SieU] LFEIILMLHS LNMEG SULLLD.

Q&I LmaucugHled Qe LV  SMG — GCmULL
BUTSeM6T oo STUSEH Q&FIeUSTGLD.

Qs Lmeucusdled (pHjeld CHTemns WG CHTMID L6V
QBLLD CHmMIL GMUILL QFHTens eUPRISLILIHLD.
QHSHL_Lmeueild GLphengdallesr  &evall, FlpLoewid  GUTETM
QFeveaysemar ThH&L(HeusnETSE 1(HSSLILGSME).

(SI6L6VG))

QRIEGET Lew eum&LUUELWD. LNeTeU(hld 6URIKSm6T 2 GHTJ6uuHHIL 60T

&(HSSHLONG AN6NHGS.

(i) 6U6TINS 6UMISHG 61T

(i) 6UENMTEH eURIEG6N

(iii) FaLl_(BMeY 6URIKGe6I
(iv) QeueMBML(h 6UMIGIG6I

Identify the type of life insurance policies from the following sentences and explain about them.

(1) In this kind of policy a sum assured is payable on death of the assured.
(i1) Under this type of policy, the insurer undertakes to pay the assured a specified sum, on the

attainment of particular age or his death.

(iii) This policy is taken up jointly on the lives of two or more persons.
(iv) Under this policy, the assured sum is payable in monthly or annually.

(v) This policy is taken to provide funds for the education or marriage of children

(OR)
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46.

Banks are many types. Explain the following briefly with examples.
(1) Commercial banks

(i1) Development bank

(iii) Co-operative banks

(iv) Foreign banks

UesteoTTL_ (B HIMILDMIGET 6T60TLIG €@(h BMLIq6L CSHTLRISLIUL(H L6
Br&eiled  ewmumyd  QFWWD 6@ BHmiouaIonGWn. Ueoerml (b
Hmimseflsr Heotennseaned gCHMID RHSHleneunr alendESs.

(SI6L6VG))

@alleum(p, BML(H&HGD (@b MW 6URE 2 6615 6@ BT Lg 6o
SlMEWISHG QURISGeMeT CFweoUThHemers SLGUGSHSHID AHHSMILD
Abs 2658 QRSUILLD eUUMLSSULL (H6Tengl. enWl  elhi&&eest
QeusuGam) QuuwIFseMest SIMLPSSLILI(HE60TM 6. Sl6m6LS 6N 6T
Qeweour(msem  BMLlMG BTG wWLINUGL. @hHw  Heje eumnE
@nsHwimeNer enOW  eURISA  YGLD. HeT LNeTeU(HLD  LIGTNSHemern
aens G 5.

@) SITH 6T eURISIWLIT

()  eUMREUWITSHeN6T 6uUMIS

(i)  emumi CHTL(B&Hmen HFHLEG GeuafuN(BReudled (LpmMIFlenLd

(iv)  &SL60T &L (LML L ey

A multinational company is one which is incorporated in one country and which carries business
in many countries. Explain any five advantages of multinational companies?

(OR)

Every nation has one central bank. It is owned by the government. The control over the entire
banking system of a country is vested with this apex bank. Central banks are known as different
names in different countries. Their functions also vary from one country to other. Reserve Bank
of India is the central bank of our country. Explain the following functions of Reserve Bank of
India.

(1) Government Banker

(i1) Bankers bank

(iii) Monopoly of note issue
(iv) Controller of credit
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47.

Ang geumid HGHLSHAOGWL eUaflU@BEGD 2-61e1 QG TL[JenL
alafl&&ng. @5 HMILGHST @@ WSHHDID HAUMIONGLD. Q8
oo QFTL_MmGL  Guing FSwmfés Geusumgul  FLL LI FeILmen
S, QUETUTLOMGLD.

() SIhS eueGHleT GUWmTS GOIUIN({HS.
(i) SIHET 2 66N SHSMIGenen eN6Ufl&s.

(S16L6LF))
LILp6DTl eTeoTLION] 62(lh SL(RLOMeuTLl QuUTMlLTen. Sieusny @reu(h &L lgL
@RUUBSSSTIISET FHHGHMIEHET. SLlgL D Sl lg NOHUSNHS HeulflL LD
@UUBSLD Q&g Qsmeter  eN(pNEIMIS6T.  (PHOHD  SeufsGen
QEWIUsHTE UGS TEINH @QeomusHed HIeTsHed (h UGS eml
QUITOLITEN(H&GS UL HHUSTSH 6LILG CIHTES6TM6TI].
(i) @&l 61hs UMSBIITET CHTLHLTGLD?
(i)  SIHIemL W oLweoLseNed gCHEMID BHTETH 6T Il6N&H G .

It is the constitution of the company in its relation to the outside world. It is a primary document
of the company. It is a legal document prepared at the time of company formation.

(1) Identify the name of the document.
(i1) Explain its contents.
(OR)

Palani is a civil engineer. He has met two building contractors who wish to enter into agreement
with him to construct and sale buildings. They prepared to make the investment and offer one
fourth share in profits to Palani.

(1) Identify the type of business they start?

(i1) Explain any four of its features?
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